CASB EE CASBEE-

CASBEE-NCb_2004v1.41

2006 3 3

1900 1 O

2007 3

1,994
1,644
10,197

200
4,300

03 So1 3.0 S, 33 So: 3.0
Q-1 2 Q-3 5 5 5
0% i 4t 4 4t
L | | 4.0
3 s—H 3 == e K
30 30 30 30 30
LR-1 LR-3 2L 2 2t
0.4 0.3 10
1 1 1
LR-2 0.3
LR
S r= 3.0 SLR=0.4*SLR1 +0.3*SLR2 + 0.3 * SLR3
LR-1 LR-2 LR-3
Sir1 3.0 Sz 2.9 S\r3 3.0
5 5 5
4+ 4+ 4
3 3 3
30 30 30 30 30 30 30 30 30 30 30
2 2t Y 2+
1 1 1
-2 BEE Building Environmental Efficiency
BEE
=3. BEE=15 =
100 BEE=3.0 BEE=1.0
A B
25 (Sq-1) 52 1.0
B 25 (5-Sr) 51
50 R = o™ Tl - - cchcccncaanaaasn
; BEEF0.5
"
E. Q=25 (Sg-1)  *Squ: Score of Q category
I. c SQ=0.4* SQL +0.3*SQ2 +0.3*SQ3
0 ¢ ool L=25 (5-Sir) *S.g: Score of LR category
0 50 L 100 SLR=0.4* SLR1 + 0.3 * SLR2 + 0.3 * SLR3
B
-1
%)
/ / /
co, kg-CO,/ kg-CO,/ kg-CO,/
m¥/ m?/ m¥/
LCCO, kg-CO,/ kg-CO,/ kg-CO,/
LC / / /
LC / / /




